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q = -4
_ =37-12
25=__ -8

You get the area of a rectangle by multiplying its length by its width. If its width is 2 feet
and height is 7 feet, then the area is 2 feet x 7 feet = 1 feet squared. Emily drew a square.
She does not know how to calculate its areq, but she calculated the perimeter to be 16
feet. "I just added all the sides together to get the perimeter. How do I get its area?” she
asks.

How would you respond?
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Look at the balance. What does it tell you? Write a sentence to explain.

7
Qo 00
o o —

O True [ False

R LHHATRRTI AN
O True [J False ) | [ True [ False
RO | R - D00
[ True L] False ) | [ True [ False

Did you find that two are true? If not, look again!
You should only mark TRUE if you are absolutely sure it is correctl

" Write an even number. 1 ( 1 (2x3 A
N\ J \\ J \ J

(" word root in can mean not insomnia, insane )
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All of the students in Ms. Taylor's kindergarten
class made birthday cards for Mickey Mouse.
Some of the cards were made from white
paper and some of the cards were made
from black paper. If there are sixteen
students in the kindergarten class and
one-fourth of them made their cards from
white paper, how many students used black
paper for their cards?

Baby Bird didn't want to start flying. He was
afraid. He might fall to the ground and hurt
himself. He put off trying to fly for a long time.
His brothers and sisters made fun of him.
Finally, he tried. Guess what happened? On
his first flight he flew 5 feet and 8 inches to
the next tree! On his second flight he flew 12
feet and 4 inches to another free. Baby Bird
loved flying! How much further did Baby Bird
fly on his second flight than he did on his first
flight?

Anna and Jacob each ordered a pizza pie at CC's Pizza. CC's pizza is special in that they

don't cut the pie into slices, you have to do thatl When Anna got her pie she cut it info 5

slices. Jacob decided to cut his into 6 slices.

If Anna ate 3 slices and Jacob ate 3 slices, who ate more?

Mx12

word root Uni can mean one

8+___+16=53

uniform, unilateral, unison
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Get a fidget spinner! Spin it. I needed to spin time(s) to finish.

2eB)Be/2e
26Q6/B6/0%
SEjeT /sl
Je8e/Re/2e
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Spin again. Add. Complete each number bond. I needed to spin time(s) to finish.

SR oL (e10)c0
SI0R (01060
SO (eiS)C0
SO e10) 60
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Max wanfs fo buy a sea | The mailman left our Jenna bought a puzzle
monkey. He has 5 dimes | mail at 1:35 p.m. He left for her brother. The
and 7 pennies. How Kevin's mail half an hour | puzzle cost $3.90. Jenna
much money does he later. What time did he gave the clerk $5. How
have? leave Kevin's mail? much change did she

get?

Count by 3s.

Draw ONE continuous line that touches every box ONCE.

Count by 3s. Find the box with the number 2. Move up, down, right, or left.
Keep counting until you reach 41. Do not move into a spot with a ghost.

T T=] [57

Count by 2s. >

= oo
(@No)
1

w
O O1
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Sudoku Sums of 12
Each row, column, and box must have the numbers 1 through 9. 2
Hint: Look for sudoku sums. The sum of the two boxes inside of the x 8
dashed lines is 12.
Here is an example of a sudoku sum of 12: 9 3
8 3) 2
6 9 3 5 7
9 ) 1 6
S 3 8
6 5 9 1
1l
1 6 7 8
L -9
2 1 3)
1 3 | Colorin % of the rectangle.
+ 14

3[15 324

word root tempor can mean time contemporary, temporary
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Fill in the boxes so each line equals 11. Colorin 3 .
f |
=1 319
| x
85 38
17| - - 15
( + ) -| ™
+ X | 5
O miyl O care
23 6 4 52 34
+ 27 + 46 20 24 | Omidl O carre
* 19 + 10 O maill O cari
O mail O cura
Write the final part of the math analogy.
+2+12+12:2x4:7+7+7:
Explain why you think your answer is correct.
Expand the number.
HO | 30 -21 =
891 = + + +39
19 + =22

3+5 = 2x5= U+2-= 7 +7 =
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g2X5=‘0 5 2455 9 1 218 310104 23 1 19
[19x3= 234 207 5 3 9 1211312265 MU 19

T U 4332202144 5 3 2 4 16 4 2204 7 28
X —_—
4 U6 1 1920 428 4 U5 7 2 384 12 27 18
[18xU= 2327315 1722 64 2 6 U423 5 9 18 23
(012 x8= 15 %5 29431 322w 17|
5 U8 5 1 2865 12 722 2 1120 11 48 18 rite
|:| 3x2= operation.
217 9 42629 BBUYR 525 4 4 |y _
rite = sign.
[17x12 = 2868837 9W767W8 TR
(4 5 5 = 84 4 1818202 27 3 9 11 8 4 W 7109
04U 79 434 8 4518 321R
[J6x7= 5 W10 7 21924 39 8921 8 1 7
[19x5 = 45 11 29U284 7 2 11 2 3213 8 26 6 16 20
2% M 9 161223149237 9127515 9
[I11x2=
N10x4=49 [ 3 01 1304509 5u509 2210 T
[112x3= 4O 253 412 8125 9362568 7
[(13x5 = 210 1 7044 11 9 U6 11 15 11 35 3 12 1
6y 3 9539 8 26 33716 9 3 12 9 2 10 2 4 39
X —_
0125 15 H216 1042224 186916
[18x3= 6 11 15 410 210 4255 4 20397025 18
[(l1x2= 4 8 11 3 85 1 2012 2253 M 36 3 12

(545 = 25587%832410837'—17
09 8 R 12 42818 3655250 3
5

C110x1l=

W9 612 295 23425 3 1670 2 22
[18x12= 03 21 5 31079 315 10210 1
[19x5= 835318 324 1B63102M16 9 7 4 9 f

[17x10 = 19 6 8 KB 510224 3 344 8 11 10 23
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Gavin Hunter Amy Rosa
| 21 e 37/ ¢ 77 ¢« 8 |

Facts
Gavin is eight years old.
Hunter is twenty-nine years older than Gavin.
Amy is forty years older than Hunter.

Rosa is thirfeen years older than Gavin.

How old is Gavin?

How old is Hunter?

How old is Amy?

How old is Rosa?

6 64145 19
475

o O
N 0o
O O

~
+
1

19 26 + 29

0
+
1

33 11 34

+
1
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Greater and Less Than Number Kissing

Start at a green number and draw a line to any red number that is less than the green number.

Draw a line that connects one number to one other number to kiss. Draw your lines over the trace lines.
No lines may cross. Once you draw a line to a number, that number cannot be used again.

One complete line has already been drawn for you.
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SUBSCRIBE TO RECEIVE EVEN MORE

Answer Keys « Effective Activities « Accl:ess
to as many printables as you need!
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L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




